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4) E6545=<O > F>?>7D4D<G5E><E, <=65=5D=>-75>?>7<G5E><E, 

7<4D>75>?>7<G5E><E, <5F5>D>?>7<G5E><E < >?<<4F<G5E><E GE?>6<OE GG4EF>4, 

=4 >>F>D>< 5G45F >EGM5EF6?OFLEO EFD><F5?LEF6> ?<=5==>7> >5N5>F4 

 

      'G4EF>> EFD><F5?LEF64 D4E?>?>65= 6 74?44=>= G4EF< 7>D>44 �54>4=4 6 

D4=>=5 �54>4=647>=<4L, =4 75<5?L=>< GG4EF>5 E >444EFD>6O< =><5D>< 

19:01:170102:1448. 

          %4>4E<O D4E?>?>65=4 =4 N7>-74?445 �>EF>G=>= %<5<D< 6 ?56>55D56=>= 

G4EF< 54EE5==4 �=<E5O. �54>4= =4E>4<FEO =4 N75 %<5<D<, 6 E4<>< F5=FD5 

47<4FE>>7> <4F5D<>4. �>D>4 D4E?>?>65= 6 F5=FD5 �<=GE<=E>>= >>F?>6<=O. 

          $5?L5D D4=>=4 ?D54EF46?O5F E>5>= 5>?55 D>6=O= GG4EF>> <5EF4<< 

6EFD5G4NFEO ?5D5?44O =55>?LL<E 6OE>F. �?O �<=GE<=E>>= >>F?>6<=O 

E4D4>F5D5= E>?<<EF>-G64?<EFO= D5?L5D, >>F>DO= >5GE?46?<645F FGD5G?5=F=>EFL 

6>74GL=>7> ?>F>>4. %>7?4E=> %� 50.13330.2012, �D<?>65=<5 � (>4DF4 7>= 

6?46=>EF<) D4=>= D4E?>?>65= 6 EGE>= 7>=5 - 3.  

&5DD<F>D<O >F=>E<FEO > I >?<<4F<G5E>><G D4=>=G, ?>4D4=>= I�. 

�E=>6=O5 >?<<4F<G5E><5 ?4D4<5FDO E>7?4E=> %� 131.13330.2020 ?D54EF46?5=O 6 

F45?.1,2,3. 

 

&45?<F4 1 

 
N ?/? �?<<4F<G5E><5 ?4D4<5FDO E>?>4=>7> ?5D<>44 7>44 

1 &5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=OE EGF>> >55E?5G5==>EFLN 0.98 -41 °% 

2 &5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=OE EGF>> >55E?5G5==>EFLN 0.92 -39 °% 

3 &5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=>= ?OF<4=56>< >55E?5G5==>EFLN 0.98 -40 °% 

4 &5<?5D4FGD4 6>74GE4 =4<5>?55 E>?>4=>= ?OF<4=56>< >55E?5G5==>EFLN 0.92 -37 °% 

5 &5<?5D4FGD4 6>74GE4 >55E?5G5==>EFLN 0.94 -25 °% 

6 �5E>?NF=4O <<=<<4?L=4O F5<?5D4FGD4 6>74GE4 -47 °% 

7 %D54=OO EGF>G=4O 4<??<FG44 F5<?5D4FGDO 6>74GE4 =4<5>?55 E>?>4=>7> 

<5EOF4 

11,6 °% 

8 �D>4>?6<F5?L=>EFL, EGF, ?5D<>44 E> ED54=5EGF>G=>= F5<?5D4FGD>=  

6>74GE4 f0,°% 
163 EGF 

9 % D54=OO F5<?5D4FGD4 6>74GE4 ?5D<>44 E> ED54=5= EGF>G=>= F5<?5D4FGD>= 

6>74GE4 f0, °% 

-12,4 °% 

10 �D>4>?6<F5?L=>EFL, EGF, ?5D<>44 E> ED54=5EGF>G=>= F5<?5D4FGD>=  

6>74GE4 f8,°% 

224 EGF 

11 %D54=OO F5<?5D4FGD4 6>74GE4 ?5D<>44 E> ED54=5= EGF>G=>= F5<?5D4FGD>= 

6>74GE4 f8, °% 

-7,9 °% 

12 �D>4>?6<F5?L=>EFL, EGF, ?5D<>44 E> ED54=5EGF>G=>= F5<?5D4FGD>=  

6>74GE4 f10,°% 

240 EGF 

13 %D54=OO F5<?5D4FGD4 6>74GE4 ?5D<>44 E> ED54=5= EGF>G=>= F5<?5D4FGD>= 

6>74GE4 f10, °% 

-6,8 °% 

14 %D54=OO <5EOG=4O >F=>E<F5?L=4O 6?46=>EFL 6>74GE4 =4<5>?55 E>?>4=>7> 

<5EOF4 

79 % 
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15 %D54=OO <5EOG=4O >F=>E<F5?L=4O 6?46=>EFL 6>74GE4 6 15 G =4<5>?55 

E>?>4=>7> <5EOF4 

73 % 

16 �>?<G5EF6> >E44>>6 74 =>O5DL-<4DF 36 << 

17 �D5>5?444NM55 =4?D46?5=<5< 65FD4 74 45>45DL - D56D4?L .�,% 

18 �4>E<<4?L=4O <7 ED54=<E E>>D>EF5= 65FD4 ?> DG<54< 74 O=64DL 4,8 </E 

19 %D54=OO E>>D>EFL 65FD4 74 ?5D<>4 E> ED54=5= EGF>G=>= F5<?5D4FGD>= 

6>74GE4 f8, 

°% 

2,3 </E 

 
 

&45?<F4 2 

 
N ?/? �?<<4F<G5E><5 ?4D4<5FDO F5??>7> ?5D<>44 7>44 

1 �4D><5FD<G5E>>5 446?5=<5 989 7�4 

2 &5<?5D4FGD4 6>74GE4 >55E?5G5==>EFLN 0,95 24 °% 

3 &5<?5D4FGD4 6>74GE4 >55E?5G5==>EFLN 0,98 28,0 °% 

4 %D54=OO <4>E<<4?L=4O F5<?5D4FGD4 6>74GE4 =4<5>?55 F5??>7> <5EOF4 27,0 °% 

5 �5E>?NF=4O <4>E<<4?L=4O F5<?5D4FGD4 6>74GE4 39 °% 

6 %D54=OO EGF>G=4O 4<??<FG44 F5<?5D4FGDO 6>74GE4 =4<5>?55 F5??>7> 

<5EOF4 
13,4 °% 

7 %D54=OO <5EOG=4O >F=>E<F5?L=4O 6?46=>EFL 6>74GE4 =4<5>?55 F5??>7> 

<5EOF4 

65 % 

8 %D54=OO <5EOG=4O >F=>E<F5?L=4O 6?46=>EFL 6>74GE4 6 15 G =4<5>?55 

F5??>7> 

<5EOF4 

46 % 

9 �>?<G5EF6> >E44>>6 74 4?D5?L - >>FO5DL 276 << 

10 %GF>G=O= <4>E<<G< >E44>>6 76 << 

11 �D5>5?444NM55 =4?D46?5=<5 65FD4 74 <N=L - 467GEF % 

12 �<=<<4?L=4O <7 ED54=<E E>>D>EF5= 65FD4 ?> DG<54< 74 <N?L 0,0 </E 

 

 

&45?<F4 3 

 
N ?/? �?<<4F<G5E><5 ?4D4<5FDO F5??>7> ?5D<>44 7>44 

1 /=64DL -18,6 

2 $56D4?L -16,4 

3 �4DF -6,1 

4 �?D5?L 3,9 

5 �4= 11,3 

6 �N=L 17,7 

7 �N?L 19,9 

8 �67GEF 16,8 

9 %5=FO5DL 9,9 

10 �>FO5DL 2,0 

11 �>O5DL -7,6 

12 �5>45DL -15,5 

 �4 7>4 1,5 
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� 75>?>7<G5E>>< EFD>5=<< GG4EF>4 6 ?D545?4E 7?G5<=O 5GD5=<O 5.0 < ?D<=<<4NF 

GG4EF<O =4EO?=O5 7DG=FO < 4??N6<4?L=O5 >F?>65=<O (a IV). 

�??N6<4?L=O5 >F?>65=<O:  EG?5E< ?5EG4=<EFO5 F65D4O5 E> M55=5<, 74?L>>= 

5>?55 50 % E ?D>E?>O<< ?5E>4 7D465?<EF>7>. 
 

5) E6545=<O >5 >E>5OE ?D<D>4=>->?<<4F<G5E><E GE?>6<OE 

75<5?L=>7> GG4EF>4, ?D54>EF46?O5<>7> 4?O D47<5M5=<O ?<=5==>7> >5N5>F4 

(E5=E<<G=>EFL, <5D7?O5 7DG=FO, >?4E=O5 75>?>7<G5E><5 ?D>F5EEO < 4D.) 
 

 

�>D<4F<6=4O 7?G5<=4 E57>==>7> ?D><5D74=<O 7DG=F>6 6 7. �54>4=5 

- 4?O 7?<= < EG7?<=>4E 2,06 <; 

-4?O EG?5E5= < <5?><E < ?O?564FOE ?5E>>6 2,5 <; 

-4?O ?5E>>6 ED54=5= >DG?=>EF<, >DG?=OE < 7D465?<EFOE 2,68 <; 

-4?O >DG?=>>5?><>G=OE 7DG=F>6 3,04 <. 

�>D<4F<6=4O 7?G5<=4 E57>==>7> ?D><5D74=<O 7DG=F>6 4?O GG4EF>4 <7OE>4=<= 

E>EF46?O5F 2,68 <. 

�> F>?M<=5 EF5=>< 7>?>?544 F5DD<F>D<O >F=>E<FEO > 7>=5 II (b=5 <<). 

�55?47>?D<OF=O= ?5D<>4 7,0 <5EOF56 E 10.10 ?> 10.05.  

%>7?4E=> EE5<5 E5=E<<G5E>>7> D4=>=<D>64=<O $>EE<=E>>= $545D4F<< 

(�D<?>65=<5 �, %� 14.13330.2018), <=F5=E<6=>EFL 75<?5FDOE5=<= F5DD<F>D<< 

<7OE>4=<= 7 54??>6 6 E>>F65FEF6<< E >4DF4<< �%$-2015-�, �%$-2015-B. 

�5D>OF=>EFL 6>7<>6=>7> ?D56OL5=<O <=F5=E<6=>EF< 75<?5FDOE5=<= 6 F5G5=<5 50 

?5F 4> 8 54??>6 ?> >4DF5 �%$-2015-% 3 1%. 

�> D57G?LF4F4< D5>>7=>EF<D>6>G=>7> >5E?54>64=<O <EE?54G5<>= F5DD<F>D<< 

<7<5=5=<= D5?L5D4, F5E=>75==OE 6>745=EF6<= 6 =4EF>OM55 6D5<O =5 >5=4DG65=> 

=4 ?D>5>F<DG5<>< GG4EF>5. 

� 6>4=>< D56<<5 =45?N445FEO: 65E5==55 ?>?>6>4L5, ?5F=<5-7<<=OO <565=L. 

� 7<<=55 6D5<O GD>65=L 6>4O 65EL<4 =<7>>. % 65E=O < 4> >E5=< >= ?>4=<<45FEO, 4 

> E>?>44< E=>64 E?4445F. �4>E<<4?L=>5 65E5==55 ?>6OL5=<5 4> 6 <5FD>6. 
 

 

 

6) E6545=<O > ?D>G=>EF=OE < 45D>D<4F<>==OE E4D4>F5D<EF<>4E 

7DG=F4 6 >E=>64=<< ?<=5==>7> >5N5>F4 

 
 

� 75>?>7<G5E>>< EFD>5=<5 GG4EF>4 6 ?D545?4E 7?G5<=O 5GD5=<O 5.0 <. ?D<=<<4NF 

4??N6<4?L=O5 >F?>65=<O (a IV). 

�??N6<4?L=O5 >F?>65=<O 

�>65DE=>EF=O= E?>=: ?>G65==>-D4EF<F5?L=O= 6E>DOF4O <>M=>EFL 0,1<. 

��- 1. %G?5E< ?5EG4=<EFO5 F65D4O5 E> M55=5<, 4D5E6>= E 7D46<5< 4> 50 % E 

?D>E?>O<< EG7?<=>4. �E>DOF4O <>M=>EFL >F?>65=<O 4,9 <. 

�>D<4F<6=O5 < D4EG5F=O5 (E �7 = 1) 7=4G5=<O ?D>G=>EF=OE < 45D>D<4F<>==OE 

E6>=EF6 7DG=F>6 6O45?5==OE <=65=5D=>-75>?>7<G5E><E M?5<5=F>6 ?D<=<<4NFEO 

E>7?4E=> %� 47.13330.2016 < ?D<6545=O 6 F45?<F5 4, 5. 
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&45?<F4 5 

 

 
 

 

7) E6545=<O >5 GD>6=5 7DG=F>6OE 6>4, <E E<<<G5E>>< E>EF465, 

47D5EE<6=>EF< ?> >F=>L5=<N > <4F5D<4?4< <745?<= < >>=EFDG>F<= 

?>475<=>= G4EF< ?<=5==>7> >5N5>F4 
 

� ?5D<>4 ?D>6545=<O <7OE>4=<O (6 4?D5?5 20237.) 7DG=F>6O5 6>4O =5 

6E>DOFO =4 7?G5<=5 5GD5=<O 4> 5,0 <. 
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5) E6545=<O > ?D>5>F=>= <>M=>EF< (?D>?GE>=>= E?>E>5=>EF<, 

7DG7>>5>D>F5, <=F5=E<6=>EF< 46<65=<O) ?<=5==>7> >5N5>F4 

 

�D>5>F<DG5<4O E<EF5<4 6>4>>F6545=<O 6O?>?=5=4 =4?>D=O<< 

FDG5>?D>6>44<< <7 ?>?<MF<?5=4 Ø110 6 465 =<F><. �46?5=<5 6 ?>4>?NG45<>< 

FDG5>?D>6>45 >F ��% E>EF46?O5F16<. 

�4>E<<4?L=4O ?D><76>4<F5?L=>EFL ��% 18<3/G. 

&DG5>?D>6>4O ?D<=OFO: �- 100 SDR 17 3 110E6,6 ?> ��%& 18599-2001, 

&DG54 ���% 3 200E4,9 >F >4<5DO 74L5=<O 4> F>G>< ?>4>?NG5=<O. 

 

6) ?>>474F5?< < E4D4>F5D<EF<>< F5E=>?>7<G5E>>7> >5>DG4>64=<O < 

GEFD>=EF6 ?<=5==>7> >5N5>F4 (6 F>< G<E?5 6>7<>6=>EFL 46F><4F<G5E>>7> 

D57G?<D>64=<O F4><E >5>DG4>64=<O < GEFD>=EF6), >55E?5G<64NM<5 

E>5?N45=<5 FD55>64=<= F5E=<G5E><E D57?4<5=F>6 

 

�?<E4=<5 >4=4?<74F<>==>= =4E>E=>= EF4=F<< ?D<6>4<FEO 6 D4745?5  

02-23 ���. 

�D>5>F>< ?D54GE<>FD5=> EFD><F5?LEF6>: 

- GG4EF>4 >4=4?<74F<>==>7> =4?>D=>7> >>??5>F>D4; 

- E>>DG65=<5 >4<5DO 74L5=<O; 

- GG4EF>4 E4<>F5G=>7> >>??5>F>D4 

�5M4O ?D>FO65==>EFL ?D>5>F<DG5<>= E5F< E>EF46?O5F 1010,50 <. 

�D>FO65==>EFL FD4EEO 6 2 =<F>< 988,13<, 6 1 3 22,361<. 

&DG5>?D>6>4O: 

- FDG5O �-100 SDR17 Ø110E6,6 3 1976,26 < (<7 =<E 6 2 =<F>< 988,13<) 

- FDG5O ���% 3 22,36<  

- FDG5O EF4?L=O5 M?5>FD>E64D=O5 Ø325E6,0 3 38< (DGF?ODO ?D< ?5D5E>45 G5D57 

46F><>5<?L=>5 ?>?>F=>). 

             �4 E5F< ?D54GE<>FD5=4 >4<5D4 74L5=<O Ø1500. � F>G>5 ?>4>?NG5=<O 

D47D45>F4= ?5D5?44 ?D< ?>4>?NG5=<<.  

         �5D5E>4 G5D57 46F><>5<?L=>5 ?>?>F=> ?D54GE<>FD5=> 6 EF4?L=>< DGF?OD5 

Ø325E6,0. $4EEF>O=<5 <564G ?<=<O<< 6 E65FG 0,9 <.  

 

7) ?5D5G5=L <5D>?D<OF<= ?> M=5D7>E55D565=<N 

 

  - FDG5>?D>6>4 74?D>5>F<D>64= <7 ?>?<MF<?5=>6OE FDG5 SDR 17; 

FDG5>?D>6>4O <<5NF =4456=O5 EFO>< < E>54<=5=<O, GF> E6>4<F > <<=<<G<G 

GF5G>< < 464D<==O5 E<FG4F<<. 
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<) >5>E=>64=<5 >>?<G5EF64 < F<?>6 >5>DG4>64=<O, 6 F>< G<E?5 

7DG7>?>4NU<=>7>, FD4=E?>DF=OE ED54EF6 < <5E4=<7<>6, <E?>?L7G5<OE 6 

?D>F5EE5 EFD><F5?LEF64 ?<=5==>7> >5N5>F4 

 

�54><>EFL ?>FD55=>EF< 6 >E=>6=OE EFD><F5?L=OE <4L<=4E < 

<5E4=<7<4E ?D54EF46?5=4 6 F45?<F5 6. 

&45?<F4 6 

 

7 

?/? 
�4D>4 46F><>5<?O �>M=>EFL (?, E.) �D<<5G4=<5 

1.  �6F>>D4= �% 3575 210 
�?O >?GE>4=<O FDG5 

6 FD4=L5N 

2.  �6F>E4<>E64?  �4<�� 55111  210 10F 

3.  ���-54322 E ?D<F5?>< I-�$-5 210  

4.  ->E>464F>D -� 5111 108 
�?O >5D4F=>= 

74EO?>< FD4=L5< 

5.  �>DF>64O 46F><4L<=4 ��� 130 110  

6.  'EF4=>6>4 ��� 74 >�F  

7.  
%?5F.46F><>5<?L E F<EF5D=>= < 

=4E>E>< ��-505� 
120  

8.  �G?L4>75D �&-75 80  

9.  �6F>7D5=45D �% 99 135  

10.  �><?D5EE>D ��-9 108  

11.  �>7DG7G<> &�-28 130  

12.  %64D>G=O= 4??4D4F Wupos5500   

13.  �4E>E  ��% - 130 7.5 >�F  

14.  
�5D546<6=4O 4<75?L=4O 

M?5>FD>EF4=F<O �-' - 16 
16 >�F  

15.  �5D546<6=>= >><?D5EE>D ��%-5   

16.  �4F>> �'-39   

17.  -?5>FD<G5E>4O FD4<5>6>4 �--4502   

18.  -?5>FD<G5E>4O FD4<5>6>4 �--4505   

 

�OL5 ?5D5G<E?5==O5 <5E4=<7<O <>6=> 74<5=<FL 4DG7<<<, 

<<5NM<<<EO 6 =4?<G<< G EFD><F5?L=>= >D74=<74F<<, 6 ?D545?4E ?>FD55=>= 

7DG7>?>4N5<=>EF< < <>M=>EF<, 6 F>< G<E?5 <<?>DF=>=. 
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>) E6545=<O > G<E?5==>EF< < ?D>D5EE<>=4?L=>->64?<D<>4F<>==>< 

E>EF465 ?5DE>=4?4 E D4E?D545?5=<5< ?> 7DG??4< ?D><76>4EF65==OE 

?D>F5EE>6, G<E?> < >E=4M5==>EFL D45>G<E <5EF 

 

�>FD55=>EFL EFD><F5?LEF64 6 >44D4E >?D545?ONF =4 >E=>65 6OD45>F>< =4 

>4=>7> D45>F4NM57> 6 7>4, EF><<>EF< 7>4>6OE >5N5<>6 D45>F < ?D>F5=F=>7> 

E>>F=>L5=<O G<E?5==>EF< D45>F4NM<E ?> <E >4F57>D<O< 6 E>>F65FEF6<< E ��% 

12-46.2008 «�5F>4<G5E><5 D5>><5=44F<< ?> D47D45>F>5 < >D>D<?5=<N ?D>5>F4 

>D74=<74F<< EFD><F5?LEF64, ?D>5>F4 >D74=<74F<< D45>F ?> E=>EG (45<>=F46G) 

?D>5>F4 ?D><76>4EF64 D45>F» F45?.7 

 

&45?<F4 7 
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